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ENGLISH – 40 

(Grammar-20) 

 

1) Tick the correct option to complete the following sentences:-                                            1×8 = 8 

  i) The collective noun to denote „a group of cows‟ is – 

              a) Crowd                     b)Bevy                       c) Hive                         d) Herd      

 ii) The feminine gender of „Drone‟ is  

              a) Bitch                      b) Vixen                      c) Bee                          d) Filly 

iii) The words „Each other‟ is an  example of – 

              a) Indefinite             b) Distributive            c) Reciprocal   Adjective      d) None  

iv) Select the  appropriate Modal Auxiliary to fill the  blank – 

                     “He __________________come  here daily.” 

 

              a) used to                 b)  can                      c) would                         d) might 

v)  The interjection to be placed in the blank space is:- 

             “_______________ ! He is no more.‟  

 

            a) Bravo!                    b) Alas!                      c) Ohh!                       d) Fie! 

vi)  “She will have reached Siliguri by then.” is an example of – 

            a) Future perfect                                        b) Past perfect       

            c) Future Indefinite                                   d) Future continuous tense 

vii) The sentence „May Heaven help you!‟ is  a/an – 

            a) Assertive              b) Imperative                c) Optative              d) Exclamatory 

viii) The sentence „Soldiers, March on‟  is:- 

            a) Guessing              b) Requesting               c) Commanding           d)  Asking  

2) Fill in the blanks with correct answers as stated .               1×4=4 

i) „Keep luggage _____________your own  risk .‟( put correct preposition).                                                             

ii) „I go to school daily‟. The underlined word is an_______________adverb?  

      „________________________________________‟ 

iii) „He came ___________________ late.‟ (Put correct conjunction in the blank) 



 

P a g e  |COM/VI- 4 
 

iv) „He is   _____________our honourable guest.‟ (Put correct article in the blank) 

3. Do as directed of the followings:                 2×2=4 

  i) „The girls are solving mathematics.‟(Rewrite with self Pronoun)                                                                                             

Ans:-____________________________________________________________________ 

 ii) „Is he tired of  walking?‟ (Turn into Assertive  sentence)                                                               

Ans:-_____________________________________________________________________ 

iii) „Work out the sum.‟ ( Rewrite in Request Sentence)                                                                       

Ans:-_____________________________________________________________________ 

iii) Punctuate the  sentence   “ hurrah India has won the world cup”                                                                                         

Ans:-______________________________________________________________________ 

iv) Give an example of Negative Interrogative sentence .                                                                                           

Ans:-______________________________________________________________________ 

                                                                 (Comprehension-10) 

4. Read the  passage given below and answer the questions which follw:- 

“Around 60 red Pandas were counted in the last census in the hills in 2012, it is learnt . The count 

based on direct sighing and scat sample analysis was 27 and 38 Pandas in the Singalila Park, 

respectively. The count was done under  the director of the Padmaja Naidu Himalayan Zoolozical Park  

in Darjeeling (PNHZP) said by Rajendra Jakhar.”  

A. Tick the correct alternative to complete the sentences :                                                       1×4=4 

i) „The Panda census was done in‟-- 

              a) 2011                           b) 2012                   c)2017                            d) 2020 

ii) „38 Pandas were counted in‟-- 

            a) Neora Valley              b) Singalila Park            c) Zoolozical Park            d) Darjeeling 

iii) „Rajendra Jakhar was ________________of  PNHZP‟  

              a) Forest Guard              b)  Director                 c) Police                     d) Chairman  

iv) „Number of Red Panda was  ________________?‟  

              a) around sixty              b) sixty              c) about sixty                     d) None 

B. Fill in the blanks with the  information from the passage :                                                  1×2=2 

i) Singalila Park was counted as of ______________________________________________ 
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ii)  PNHZP  stands for ________________________________________________________ 

C.  Answer the following  questions :                                                                                           2×2=4 

i) How was count done ? 

Ans:-____________________________________________________________________________ 

_________________________________________________________________________________ 

ii) What was the result of count in Singalila Park? 

Ans:-____________________________________________________________________________ 

_________________________________________________________________________________ 

(Spoken & Writing Expression-10)                                                                                                 

5. Tick the correct alternative to complete the sentences :                                                        1×4=4 

A. i) In reply to one‟s „good morning‟ you will say – 

         a) Good morning  you too!                             b) A very good morning  you ! 

        c) Good morning!                                          d) Morning !           

ii) How would you „request someone for anything‟ ? 

       a) Please help me                                         b)Would you help me please ?     

       c) Could you please ?                                  d) May you help me ? 

iii) Coming late to school , how  would you beg to class teacher ? 

       a) I beg your pardon please.                         b) Sorry ! I am late.  

       c) I beg your pardon for late sir.                  d) Please pardon me sir. 

iv) „Have a good day!‟ is wished ____________. 

         a) In the morning.                                        b) At noon . 

        c) In the afternoon.                                        d) At Night.           

B. Complete the sentences with the correct answers:                                                                 1×2=2 

i) ________________  is used to make request to someone . 

ii) _________________ is used to make polite expression . 

C) Answer the followings  in full sentence:                                                                                 2×2=4 

 i) Suppose you choose a shirt in a shop . How would you ask its cost ? 
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Ans:- 

ii) Your friend invited you on his birthday and you cannot go . How would you refuse it ? 

Ans:- 

 

GENERAL SCIENCE-20 

1) সঠিক উত্তরটি নিবোচি কর্রা:-                                                                               1X6=6 

 i)এওটি রমৌরকও ঩দোথথ – 

      a)তোভো          b)র঳োনো          c)঩োথরয চুন         d) র঴রয 

 ii) গ্রোনোইট ঩রযফরতথ ত ঴রে ঩রযনত ঴ে – 

      a) ভোরফথর        b) রন঳           c)রেট              d) চুনো঩োথয 

 iii)ওোররো র঴রয ঴ররো- 

      a) র঳োনো        b)ওেরো           c) তোভো            d) অভ্র 

 iv)ছত্রোওযো ঴ররো- 

      a) স্বরবোজী      b)঩যরবোজী          c)ভৃতজীফী          d) রভরথোজীফী 

 v)঩ৃরথফীয ঳ফরচরে ফে প্রোণী ঴ররো- 

      a)ফোখ         b)জর঴স্তী           c)নীররতরভ          d) রজযোপ 

 vi)ভ঱োয রোবথ ো ঔোে – 

     a)রুইভোছ       b)ইরর঱ভোছ           c)কোম্বুর঳েো         d)রবটরওভোছ 

2) অনি সংর্ের্ে দ-ুএক কথায় উত্তর দাও :-                                                                  1x6=6 

 a)চরটয ততযী রও ধযরনয ফজথ য ? 

  Ans:- 

  b) ফোে ুওী জোতীে ঩দোথথ ? 

  Ans:- 
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 c)ররো঴োয প্রধোন আওরযরওয নোভ ওী ? 

  Ans:- 

 d)ভোনুরলয রফজ্ঞোন ঳ম্মত নোভ রও ? 

  Ans:- 

 e)দটুি ফযোক্তজীফী উরিরদয নোভ রররঔো ।  

  Ans:- 

 f)প্রোওৃরতও কযোর঳য প্রধোন উ঩োদোন ওী ? 

  Ans:- 

3) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                         2x4=8                                                                                         

 a)ফ্লোই অযো঱ (fly ash) ওী ? 

  Ans:- 

 b)঳ংওয ধোতু (alloy) ওোরও ফরর ? 

  Ans:- 

 c)দটুি ঳োর঩য নোভ রররঔো মোযো ফোচ্চো প্র঳ফ ওরয ৷ 

  Ans:- 

 d)জীফ তফরচত্রয ওী ? 

  Ans:- 

MATHEMATICS -40 

A) সঠিক উত্তরটি নিবোচি কর্র ললর্িা :-                                                                   14x1=14 
 1)দটুি রনরদথষ্ট রফন্দ ুরদরে ওত গুরর ঳যররযঔো টোনো মোরফ ?      
        a)1 টি          b)3 টি         c)25 টি          d) অ঳ংঔয 
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 2)এঔন অরভরতয ফে঳ 𝑥 ফছয 10 ফছয ঩ূরফথ তোয ফে঳ ওত রছর  

        a)(𝑥-10)ফছয    b)(𝑥+10) ফছয    c) 10 ফছয      d)(𝑥 x10) ফছয   

 3) 35 এয ফৃ঴ত্তভ রভৌররও উৎ঩োদও ঴ররো - 

        a)1           b)3           c)5               d)7 

 4) 21, 33, 57 এফং 102 ঳ংঔযোগুরর _____________ দ্বোযো রফবোজয ৷ 

        a)3          b)4           c)5               d)6 

 5)ফৃরত্তয ঩রযরধস্থ দটুি রফন্দযু ঳ংরমোজও ঳যররযঔো, মো ফৃরত্তয রওন্দ্র রদরে অরতক্রভ ওরয তোরও ওী  
   ফরর ? 
        a)ফযো঳োধথ        b)ফযো঳        c)জযো             d)রওোরনোটিই নে ৷ 

 6)F G O R অক্ষযগুরর ঳োরজরে এওটি অথথ঩ূণথ ঱ব্দ কঠন ওরয তো রওোন রফবোরকয অন্তবূথ ক্ত   
    ঴রফ,রররঔো৷ 
       a)঱঴য        b)প্রোণী        c)঳ফজী              d)ফযরক্ত  

 7)85.75 এফং 5.9 এয ঳ভরষ্ট রথরও 29.375 রফরেোক ওরয ঩োই- 

      a)62.275      b)63.275      c)64.275            d)65.275 

 8)ভোন রনণথে ওরযো-  3+3x3(4+3) 

      a)42           b)45          c)66              d)75 

 9)রযোর঴ত এও রভরনরট 28 টি ঱ব্দ টোই঩ ওযরত ঩োরয ঐ ঴োরয টোই঩ ওযরর 5.5 রভরনরট ওতগুরর ঱ব্দ  
  টোই঩ ওযরত ঩োযরফ ? 
      a)154            b)157         c)159             d)162 

 10)এওটি ফোররতরত 5 ররটোয 120রভরররর জর আরছ, 40 রভরর জর ধরয এভন ওতগুররো ভক ঐ জর  
   রদরে বরতথ  ওযো মোরফ ?     
      a)122             b)130         c)118             d)128 

 11)88 এফং 1331 এয ঳োধোযন উৎ঩োদও ঴ররো- 

      a)2              b)8           c)11              d)22 

 12)ছরফরত ওটি রত্রবুজ আরছ ? 

 

      a)1               b)2           c)3               d)4 
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 13)দটুি ঳ংঔযোয ঳ভরষ্ট -12, এওটি ঳ংঔযো 6 ঴রর অ঩যটি – 

      a)6               b) -6          c)12              d)-18 

 14)রপ্রে ফই x 

 

                                           x = 1 টি ছোত্র 

      ওত জন ছোরত্রয রতন ধযরনয ফই রপ্রে ? 

 B) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                        2X7=14                                                                                        

 i)120 এয উৎ঩োদও গুরর ওী ওী  ? _______________________ 

 ii)খরেয দটুি ওোাঁটোয ভরধয উৎ঩ন্ন রওোরণয ঩রযভো঩ ওত ?মঔন _________________ 

      a)দ঩ুুয 3 টো ফোরজ ___________________ 

      b)যোত 12 টো ফোরজ ___________________ 

 iii)ওথোে রররঔো – 9087671   

   Ans:- 

 

  iv) ঴োযোরনো উৎোদকগুনল ঔুাঁরজ রররঔো –    
 

 

                                

 

 

  Ans:- 

 

  v) ঳যর ওরযো -  678-(-760)-(654) 

 

 

 

xx 
x 

x 

x 

x 

x 

x x 
x 

রূ঩ওথো জীফনী 

য঴঳য 

1092 

2 
546 

182 

91 
? 

? 

? 

? 

x 
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 vi)ভোণ রনণথে ওরযো-  (824 x 10001) 

  Ans:- 

 

  vii) ভোরণয ঊর্ধ্থক্ররভ ঳োজো঑  -24, -28, -29, -25, 30 

  Ans:- 

 

C) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                         3x4=12 
 i)এওটি ফোরে 3,00,000 টযোফররট ঒লধ আরছ মোরদয প্ররতযওটিয ঑জন 20 রভররগ্রোভ, ঳ফওটি  
  টযোফরররটয রভোট ঑জন রওগ্রো ঑ গ্রোরভ প্রওো঱ ওয ৷ 
 

 

 

 

 ii)রতন অরেয ফৃ঴ত্তভ ঑ কু্ষদ্রতভ ঳ংঔযোয অেগুররয ঳ভরষ্টয ঩োথথওয ওত ? 

 

 

 

 

 

 iii)এওটি ওোযঔোনোে প্ররত ভোর঳ 151 টি চওররট ততরয ঴ে৷ 1359 টি চওররট ততরয ওযরত ঐ  
   ওোযঔোনোে ওত ঳ভে রোকরফ ? 
 

 

 

 



 

P a g e  |COM/VI- 11 
 

 D)রনরচয ছওটি ঩ূণথ ওরযো - 
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 ঴যোাঁ 

 ঴যোাঁ 
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